


• One morning after sunrise, Ajay met Deepu at a tiraha/crossroads while going 

to a shop. Deepu's shadow was on the immediate right of Ajay. If they were 

facing each other, then which direction was Ajay facing?

• एक सबुह सरू्योदर्य के बाद अजर्य एक दकुान पर जाते समर्य एक ततराहा / चौराहा पर दीप ूसे तमला । 

दीप ूकी परछाई अजर्य के ठीक दातहनी ओर थी । र्यतद वे एक दसूरे के सम्मखु थे, तो अजर्य तकस 

तदशा की ओर सम्मखु था?

A.East

B. West

C. North

D.South



• Select the set in which the numbers are related in the same way as the numbers 

in the following set. NOT: Operations must be performed on whole numbers 

without dividing the numbers into their constituent digits.)

• उस सेट का चर्यन करें तजसमें संख्र्याए ँउसी तरह से संबंतित हैं जैसे तनम्नतलतखत सेट की संख्र्याएँ 

हैं।न दें: संख्र्याओ ंको उनके घटक अंकों में तवभातजत तकए तबना परू्ण संख्र्याओ ंपर संतिर्याएं

तनष्पातदत की जानी चातहए।)

• (2, 8, 36)

• (4,9,25)

A. (14, 18,9)

B. (13, 20, 49)

C. (21, 15, 35)

D.(12, 14, 26)



• Which of the following letter-cluster will replace the question mark (?) in the 

given series?

• तनम्नतलतखत में से कौन सा अक्षर-समहू दी गई श्रंखला में प्रश्नवाचक तचन्ह (?) को प्रततस्थातपत

करेगा? 

• MU, NE, PX, QF, SA, TG, ?

A.UC

B. VE

C. VD

D.VC



• In a certain code language, 'PLLANNED' is written as 'RNCNPGF' and 

'PROMOTE' is written as 'RTQMQVG'. How will 'IMPROVE' be written in 

that language?

• एक तनतित कोड भाषा में, 'PLANNED' को 'RNCNPGF' और 'PROMOTE' को

'RTQMQVG' तलखा जाता ह।ै उस भाषा में 'IMPROVE' कैसे तलखा जाएगा?

A.KORTQXG

B. KORRQXG

C. KOQRQXG

D.KORTOXG



• In a certain code language, 'BELL' is coded as '111141' and 'HEAR' is coded as 

'172647'. How will 'MIKE' be coded in that language?

• एक तनतित कोड भाषा में, 'BELL' को '111141' और 'HEAR' को '172647' के रूप में कोतडत 

तकर्या जाता ह।ै उसी भाषा में 'MIKE' को तकस प्रकार कोतडत तकर्या जाएगा?

A.410813

B. 410811

C. 410812

D.410612



• Which of the following equation will not be correct if the two given signs are 

interchanged? x and –

• तदए गए दो तचन्हों को आपस में बदलने पर तनम्नतलतखत में से कौन सा समीकरर् सही नहीं होगा? x 

और -

A.15+5÷1-9×4=70

B. 5-6x3+16÷4=31

C. 11+6x3-8÷2=5

D.15-4x3+61=63



• Select the word-pair that best represents the same relationship expressed in the 

given pair of words. (The words should be considered as meaningful English 

words and on the basis of number of letters/consonants/vowels in the word 

should not be related to each other) 

• उस शब्द-जोडी का चर्यन करें जो तदए गए शब्दों के जोडे में व्र्यक्त तकए गए समान संबंि का सबसे 

अच्छा प्रतततनतित्व करता ह।ै( शब्दों को साथणक अंगे्रजी शब्द माना जाना चातहए और शब्द में 

अक्षरों की संख्र्या / व्रं्यजनों / स्वरों की संख्र्या के आिार पर एक दसूरे से संबंतित नहीं होना चातहए) 

Police : Security
A. मंत्री : शासन

B. चोर : जेल

C. राजा : साम्राज्र्य

D.टीचर: क्लास



• Which of the following number will replace the question mark (?) in the given 

series?

• तनम्नतलतखत में से कौन सी संख्र्या दी गई श्रंखला में प्रश्न तचन (?) को प्रततस्थातपत करेगी?

• 67, 78, 71, 82, 75, 86, ?

A.97

B. 92

C. 84

D.79



• Select the option that is related to the fifth letter-cluster in the same way as the 

second letter-cluster is related to the first letter-cluster and the fourth letter-

cluster is related to the third letter-cluster.

• उस तवकल्प का चर्यन करें जो पांचवें अक्षर-समहू से उसी प्रकार संबंतित ह ैजैसे दसूरा अक्षर-समहू 

पहले अक्षर-समहू से और चौथा अक्षर-समहू तीसरे अक्षर-समहू से संबंतित ह।ै 

• LEISURE : USIELER :: INTENSE : NETNIES :: EXCITED : ?
A.CTEDEXI

B. TICXEDE

C. EXEDTCI

D.XEDETCI



• Which word will come at the third position if the given words are arranged in 

alphabetical order?

• तदए गए शब्दों को शब्दकोश िम के अनसुार व्र्यवतस्थत करने पर कौन-सा शब्द 'तीसरे स्थान पर 

आर्येगा?

• 1. Series

• 2. Serious

• 3. Serein

• 4. Serial

• 5. Serried

A.Series

B. Serein

C. Serial

D.Serious



• A & B का अथण ह ै'A, B का पतु्र ह'ै

• A # B का अथण ह ै'A, B की बहन ह'ै

• A @ B का अथण ह ै'A, B का भाई ह'ै

• A % B का अथण ह ै'A, B का तपता ह'ै

• A - B का अथण ह ै'A, B की पतु्री ह'ै

• A * B का अथण ह ै'A, B की पत्नी ह‘ै

• If C # D @ E % Z & L# M N * P, then how is E related to L?

A.Husband

B. Son

C. Father

D.Son-in-law



• If A – B means A is the brother of B, A + B means A is the sister of B, A × B 

means A is the father of B, then which of the following expressions shows that 

P is the brother of R.

• र्यतद A - B का अथण ह ैतक A, B का भाई ह,ै A + B का अथण ह ैतक A, B की बहन ह,ै A × B 

का अथण ह ैतक A, B का तपता ह,ै तो तनम्नतलतखत में से कौन सा व्रं्यजक दशाणता ह ैतक P, R का 

भाई ह ै?
A.P-Q+R

B. P+Q-R

C. P × Q+R

D.P – Q × R



• Shown are four different positions of the same dice, whose six faces are 

numbered from 1 to 6. Select the number which will be on the face opposite to 

the face showing '4'.

• एक ही पासे की चार अलग-अलग तस्थततर्याँ तदखाई गई हैं, तजनके छः फलकों पर 1 से 6 तक 

संख्र्याए ँअंतकत हैं। वह संख्र्या चनुें जो '4' दशाणने वाले फलक के तवपरीत फलक पर होगी।

6 5 4 5

1 2 6 33 4 3 1

A.1

B. 2

C. 3

D.5



• Find the odd one.

• अलग को पहचानें।

5

1

A.15-220

B. 9-84

C. 13-172

D.11-124



• A series is given with one term missing. Choose the correct option from the 

given ones that will complete the series.

• एक अनिुम तदर्या गर्या ह ैतजसमें एक पद लपु्त ह।ै तदए गए तवकल्पों में से वह सही तवकल्प चतुनए जो

शरंखला को परूा करे ।

• QRM, PWD, OBU, NGL, ?

5

1

A.MLC

B. MQR

C. MRS

D.MCL



• Statements:

• All Z are X./सभी Z, X हैं ।

• All G are X./सभी G X हैं ।

• Conclusion:

• Some G is Z./कुछ G, Z हैं।

• All X are G./सभी X, G हैं।

• Some Z are X./कुछ Z, X हैं । 33 1



• Statement:

• Some tests are exams./कुछ टेस्ट एग्जाम हैं। 

• All viva are principles./सभी वाइवा तसद्ांत हैं।

• Some exam are viva./कुछ एग्जाम वाइवा हैं।

• Conclusion:

• 1. Some theory are exam./कुछ तसद्ांत एग्जाम हैं।

• II. Some principles are viva./कुछ तसद्ांत वाइवा हैं।

• III. Some test are viva./कुछ टेस्ट वाइवा हैं।

33 1



• Choose the alternative which is closely resembles the mirror image of the given 

combination.

• उस तवकल्प को चनुें जो तदए गए संर्योजन की दपणर् छतव के समान ह।ै

33 1


